



A Brambles Company

# TRANSFER HIRE ADVICE NOTE 424 06469€

Sending Location Account Number: 14198

Sending Location Name: HALEWOOD

Sending Location Details: BENONI

Receiving Location Account Number:

Receiving Location Name: HALEWOOD

Receiving Location Details: CP1

Reference Number 1: 755981

Reference Number 2:

Reference Number 3:

Reference Description: 7/5

Reference Description:

Reference Description:

Effective Transfer Date: 25/01/2025

Registration Number / Truck Number: 288 902 FS

Driver Name: S P H D

Account Date: 28/01/2025

Checked By Name: PENTON

Checked Signature: [Signature]

| Equipment Code | Quantity | Equipment Description | Equipment Code | Quantity | Equipment Description |
|----------------|----------|-----------------------|----------------|----------|-----------------------|
|                | 3        | CHEP                  |                |          |                       |
|                |          |                       |                |          |                       |
|                |          |                       |                |          |                       |
|                |          |                       |                |          |                       |
|                |          |                       |                |          |                       |

CHEP never sells or transfers ownership of its Equipment. Unauthorised trading, appropriation, use or disposal of CHEP equipment is strictly prohibited.

Report Illegal Activity - Contact Tip-Offs Anonymous on 0800 003 310 or email [chep@tip-offs.com](mailto:chep@tip-offs.com)

CHEP Help line: Toll free - 0800 330 334  
 Mail: [za\\_info@chep.com](mailto:za_info@chep.com)

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd t/a Halewood South Africa  
 Company Registration number 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET  
 APEX EXTENSION 1  
 BENONI 1501

VAT Reg No : 4590177624

PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

Printed on: 22/01/2025  
 75698 at 10:56:19

INVOICE TO: Halewood - Johannesburg  
 Halewood International S A (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

101352

DELIVER TO: Halewood - Cape Town  
 Halewood International S A - Cape Town  
 12 Gemini Street  
 Brackenfell  
 Cape Town  
 Barry

Shipping Instructions:

29438

| CUST ACC | CUSTOMER REF | STORE NO. | BR | OUR REF | REP | ORD DATE | INV DATE | TERMS | GA | CUST VAT NUM |
|----------|--------------|-----------|----|---------|-----|----------|----------|-------|----|--------------|
|          |              | HC        |    | 1987172 |     | 22/01/25 | 22/01/25 |       |    |              |

| Stock Code        | Description  | Pack | Cases | Bottles | Wh | Unit Price | Line Value |
|-------------------|--|------|-------|---------|----|------------|------------|
| RSRED27524T       | RED SQUARE RED ICE RTD NRB 275ML @ 5%              | CS   | 156 ✓ | 0       | HH | 210.25     | 32,799.24  |
| RSRELOAD24S       | RED SQUARE RELOAD ENERGY DRINK RTD NRB 275ML @ 0%  | CS   | 156 ✓ | 0       | HH | 115.57     | 18,028.94  |
| RSTEQ27524PIB     | RED SQUARE TEQUILA ENERGY RTD NRB 275ML @ 5.4%     | CS   | 12 ✓  | 0       | HH | 237.21     | 2,846.52   |
| RSVODKA20012S     | RED SQUARE VODKA 200ML @ 43%                       | CS   | 63 ✓  | 0       | HH | 390.39     | 24,594.86  |
| SKDP/FRUIT27S     | SKINNY DIVA PASSIONFRUIT RTD NRB 275ML @ 3%        | CS   | 78 ✓  | 0       | HH | 174.47     | 13,608.56  |
| SKDPEACH          | SKINNY DIVA PEACH PUNCH RTD NRB 275ML @ 3%         | CS   | 78 ✓  | 0       | HH | 175.30     | 13,673.38  |
| SKDSTRAWBERRY     | SKINNY DIVA STRAWBERRY SWIRL RTD NRB 275ML @ 3%    | CS   | 35 ✓  | 0       | HH | 173.63     | 6,077.12   |
| WCPOGUES1X750     | POGUES IRISH WHISKEY 750ML @ 43%                   | EA   | 0     | 606 ✓   | HH | 206.08     | 124,887.32 |
| WHITGINH1X750     | WHITLEY NEILL GIN PROTEA & HIBIS 750ML @ 43%       | EA   | 0     | 6 ✓     | HH | 129.18     | 775.06     |
| WHITGINRB750      | WHITLEY NEILL GIN RASPBERRY 750ML @ 43%            | EA   | 0     | 12 ✓    | HH | 127.72     | 1,532.61   |
| WHITLEYNEILLGIN-1 | WHITLEY NEILL GIN 750ML @ 43%                      | EA   | 0     | 36 ✓    | HH | 127.57     | 4,592.39   |
| ORCOSMOP30012S    | ORIGINAL ICE COSMOPOLITAN COCKTAIL POUCH 300ML     | CS   | 80 ✓  | 0       | HH | 134.17     | 10,733.85  |
| ORIMARG30012S     | ORIGINAL ICE MARGARITA COCKTAIL POUCH 300ML @ 5%   | CS   | 180 ✓ | 0       | HH | 116.81     | 21,026.03  |
| ORIMOJITO30012S   | ORIGINAL ICE MOJITO COCKTAIL POUCH 300ML @ 5%      | CS   | 180 ✓ | 0       | HH | 122.81     | 22,106.05  |
| ORIPINA30012S     | ORIGINAL ICE PINA COLADA COCKTAIL POUCH 300ML @ 5% | CS   | 180 ✓ | 0       | HH | 124.66     | 22,438.04  |



HALEWOOD INTERNATIONAL (PTY) LTD  
 12 GEMINI STREET

BRACKENFELL, CAPE TOWN  
 021 982 4100(T) | 021 982 4127 (F)

HALEWOOD INTERNATIONAL (PTY) LTD  
 12 GEMINI STREET

BRACKENFELL, CAPE TOWN  
 021 982 4100(T) | 021 982 4127 (F)

7442441

76

7442450

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd  
 Company Registration number: 1998/001867/07  
 www.halewood.co.za

61 TORONTO STREET  
 APEX EXTENSION 1  
 BENONI 1501

VAT Reg No: 4590177624

PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

Printed on: 22/01/2025

at: 10:56:19

INVOICE TO: Halewood - Johannesburg  
 Halewood International S A (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

DELIVER TO: Halewood - Cape Town  
 Halewood International S A - Cape Town  
 12 Gemini Street  
 Brackenfell  
 Cape Town  
 Barry

Shipping Instructions:



| CUST ACC | CUSTOMER REF | STORE NO. | BR | OUR REF | REP | ORD DATE | INV DATE | TERMS | GA | CUST VAT NUM |
|----------|--------------|-----------|----|---------|-----|----------|----------|-------|----|--------------|
|          |              |           | HC | 1987172 |     | 22/01/25 | 22/01/25 |       |    |              |

| Stock Code                | Description                                       | Pack | Cases | Bottles | Wh | Unit Price | Line Value |
|---------------------------|---|------|-------|---------|----|------------|------------|
| ORISSLING30012S           | ORIGINAL ICE SINGAPORE SLING COCKTAIL POUCH 300ML | CS   | 72    | 0       | HH | 137.61     | 9,908.00   |
| ORISTRRAW30012S           | ORIGINAL ICE STRAWBERRY COCKTAIL POUCH 300ML @ 5% | CS   | 180   | 0       | HH | 132.63     | 23,873.27  |
| BUFFELLAGER340            | BUFFELSFONTEIN LAGER 340ML @ 4%                   | CS   | 72    | 0       | HH | 228.07     | 16,420.76  |
| SOMBRSLIV750X1            | SOMBRERO TEQUILA SILVER 750ML @ 43%               | EA   | 0     | 360     | HH | 193.15     | 69,533.09  |
| HERENANEJ750              | HERENCIA TEQUILA ANEJO 750ML @ 38%                | EA   | 0     | 24      | HH | 407.00     | 9,768.01   |
| HERENREPO750              | HERENCIA TEQUILA REPOSADO 750ML @ 38%             | EA   | 0     | 24      | HH | 358.91     | 8,613.94   |
| ANTLIMCEL750              | LIMONCELLO LIQUEUR 750ML @ 32%                    | CS   | 24    | 0       | HH | 893.77     | 21,450.57  |
| BELGRAVGIN750             | BELGRAVIA LONDON DRY GIN 750ML @ 43%              | CS   | 1,456 | 0       | HH | 652.65     | 950,252.42 |
| BELGRAVPINGIN750ML        | BELGRAVIA PINK GIN 750ML @ 30%                    | CS   | 104   | 0       | HH | 488.54     | 50,808.46  |
| BUFFELBRA750              | BUFFELSFONTEIN BRANDEWYN 750ML @ 4%               | CS   | 104   | 0       | HH | 793.69     | 330,176.22 |
| DIVIDERBOARD-D-DISTRIBUTI | DIVIDER BOARDS DISTRIBUTION                       | CS   | 0     | 34      | HH | 5.22       | 177.48     |
| DIVIDERBOARD-D-DISTRIBUTI | DIVIDER BOARDS DISTRIBUTION                       | CS   | 0     | 34      | HH | 5.22       | 177.48     |
| HALEWOOD                  | BRACKENFELL, CAPE TOWN                            | CS   | 0     | 34      | HH | 5.22       | 177.48     |

PAYMENT TERMS STRICTLY C.O.D. UNLESS CREDIT TERMS HAVE BEEN ARRANGED IN WRITING

**TRANSPORTATION:**

PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
 Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
 No responsibility accepted for goods signed for unchecked  
 No goods may be returned unless prior arrangements are made in writing  
 Returns are subject to a 10% handling charge  
 Commercial quality equipment is not to be used for filling applications

**CUSTOMER:**

PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
 Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
 No responsibility accepted for goods signed for unchecked  
 No goods may be returned unless prior arrangements are made in writing  
 Returns are subject to a 10% handling charge  
 Commercial quality equipment is not to be used for filling applications

|                  |     |              |
|------------------|-----|--------------|
| <b>SUB-TOTAL</b> | ZAR | 1,810,879.67 |
| <b>VAT</b>       | ZAR | 0.00         |
| <b>TOTAL</b>     | ZAR | 1,810,879.67 |

VEHICLE REGISTRATION No: ..... PRINT NAME: .....  
 SIGNATURE: ..... DATE: .....

PRINT NAME: *Barry* ..... DATE: 28.1.25  
 SIGNATURE: ..... DATE: .....

# Halewood Delivery Schedule

Driver:  
Truck: Super-Link  
Trailer: No

**\*75598\***

Doc No.: 75598

Truck Tare Kg: 20,000  
Truck GVM Kg: 54,000  
Trailer Tare Kg: 0  
Trailer GVM Kg: 0  
Available Payload Kg: 34,000  
Approx. Load Mass Kg: 28,266

| Area     | Customer            | Has<br>Ord No.: | POS                      | Tot<br>Qty | Pallets<br>Norm | Chep | Arrived<br>Left                       |
|----------|---------------------|-----------------|--------------------------|------------|-----------------|------|---------------------------------------|
| SCT-     | SCT Trf - Cape Town |                 |                          |            |                 |      |                                       |
|          | SCT-HC              | 1987172         | <input type="checkbox"/> | 4,658      |                 |      | A: .....<br>L: .....<br><b>*19871</b> |
| Stops: 1 |                     | Invoices: 1     |                          | 4,658      | 0               | 0    |                                       |

SIPHO

JOB 902 FS

HALEWOOD INTERNATIONAL (PTY) LTD  
12 GEMINI STREET  
BRACKENFELL, CAPE TOWN  
021 982 4100(T) | 021 982 4127 (F)

HALEWOOD WINES AND SPIRITS  
25 JAN 2025  
ORIGINAL *Bunaw*

# Halewood Delivery Schedule

# Stock Breakdown

Driver:  
Truck: Super-Link  
Trailer: No

Truck Tare Kg: 20,000  
Truck GVM Kg: 54,000  
Trailer Tare Kg: 0  
Trailer GVM Kg: 0  
Available Payload Kg: 34,000  
Approx. Load Mass Kg: 28,266

**Doc No.: 75598**

| Stock Code            |                                | Tot Qty      | Unit Mass (kg) | Total Mass (kg)  |
|-----------------------|--------------------------------|--------------|----------------|------------------|
| ORISTRAW30012S        | ORIGINAL ICE STRAWBERRY COC    | 180          | 7.70           | 1,386.00         |
| BELGRAVIN750          | BELGRAVIA LONDON DRY GIN 750   | 1,456        | 7.26           | 10,570.56        |
| BELGRAVPINGIN750ML    | BELGRAVIA PINK GIN 750ML @ 30  | 104          | 7.26           | 755.04           |
| BUFFELBRA750          | BUFFELSFONTEIN BRANDEWYN 7     | 416          | 7.28           | 3,028.48         |
| BUFFELLAGER340        | BUFFELSFONTEIN LAGER 340ML     | 72           | 13.90          | 1,000.80         |
| DIVIDERBOARD-DISTRIBU | DIVIDER BOARDS DISTRIBUTION    | 68           |                |                  |
| HERENANEJ750          | HERENCIA TEQUILA ANEJO 750ML   | 24           | 1.45           | 34.80            |
| HERENREPO750          | HERENCIA TEQUILA REPOSADO 7    | 24           | 1.45           | 34.80            |
| ORICOSMOP30012S       | ORIGINAL ICE COSMOPOLITAN CO   | 80           | 7.70           | 616.00           |
| ORIMARG30012S         | ORIGINAL ICE MARGARITA COCKT   | 180          | 7.70           | 1,386.00         |
| ORIMOJITO30012S       | ORIGINAL ICE MOJITO COCKTAIL   | 180          | 7.70           | 1,386.00         |
| ANTLIMCEL750          | LIMONCELLO LIQUEUER 750ML @    | 24           | 8.16           | 195.84           |
| ORISSLING30012S       | ORIGINAL ICE SINGAPORE SLING   | 72           | 7.70           | 554.40           |
| WHITLEYNEILLGIN-1     | WHITLEY NEILL GIN 750ML @ 43%  | 36           | 1.45           | 52.20            |
| RSRED27524T           | RED SQUARE RED ICE RTD NRB 2   | 156          | 12.45          | 1,942.20         |
| RSRELOAD24S           | RED SQUARE RELOAD ENERGY D     | 156          | 12.30          | 1,918.80         |
| RSEQ27524PIB          | RED SQUARE TEQUILA ENERGY R    | 12           | 12.35          | 148.20           |
| RSVODKA20012S         | RED SQUARE VODKA 200ML @ 43    | 63           |                |                  |
| SKDP/FRUIT275         | SKINNY DIVA PASSIONFRUIT RTD   | 78           |                |                  |
| SKDPEACH              | SKINNY DIVA PEACH PUNCH RTD    | 78           | 12.20          | 951.60           |
| SKDSTRAWBERRY         | SKINNY DIVA STRAWBERRY SWIR    | 35           | 12.20          | 427.00           |
| SOMBR SILV750X1       | SOMBRERO TEQUILA SILVER 750    | 360          | 1.30           | 468.00           |
| WCPOGUES1X750         | POGUES IRISH WHISKEY 750ML @   | 606          |                |                  |
| WHITGINHI1X750        | WHITLEY NEILL GIN PROTEA & HIB | 6            | 1.32           | 7.92             |
| WHITGINRB750          | WHITLEY NEILL GIN RASPBERRY 7  | 12           | 1.32           | 15.84            |
| ORIPINA30012S         | ORIGINAL ICE PINA COLADA COCK  | 180          | 7.70           | 1,386.00         |
|                       |                                | <b>4,658</b> |                | <b>28,266.48</b> |
| Chep Pallets:         |                                | 0.00         | 40.00          | 0.00             |
| Normal Pallets:       |                                | 0.00         | 20.00          | 0.00             |
|                       |                                | <b>4,658</b> |                | <b>28,266.48</b> |

HALEWOOD WINES AND SPIRITS

25 JAN 2025

ORIGINAL

*Burnell*